Ohm’s Law
V=I-R

* Vis Voltage, the Potential Difference between two ends of a
wire (or resistor, light bulb etc). Measured in Volts [V]

* | Is Electric Current, the total charge flowing through the wire
in 1 sec. Measured in Amperes [A] (Coulomb per second) :
1A=1C/s

* R is Resistance of the wire. Measured in Ohms [Q]. 1Q=1V/A
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Serial connection:

Current the same. Voltage adds up. + ]
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Parallel connection:

Voltage the same. Current adds up.
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Homework

Problem 1 Find the overall resistance R for the resistor circuits.

A series-parallel combination circuit

24V _—




Problem 2

a) Find the equivalent resistance and current in the circut.

b) Determine voltage on the 50 Ohm resistor, and the current
running through it:
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c) You need to replace one of the resistors in the circuit above with a
light bulb, so that the current through the bulb were the smallest
possible. Which one will you replace?



